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Question 1: Amit is the brother of Sonia. Jyoti is the sister of Nikita. Sonia is the daughter of 
Satish’s father. Nikita is the daughter of Kavinder. Jyoti is the mother ofAmit. Mukeshis 
Nikita’s only sister’s husband. How is Satish related to Kavinder? [SSC CGL 3rd March 2020 
Shift-1]

A    Son

B    Brother

C    Grandson

D    Son-in-law

Question 2: A + B means ‘B is the brother of A’:A - B means ‘A is the mother of B’:A * B 
means ‘A is the father of B’:A % B means ‘A is the son of B’. If, P + R * T - Q % S + U , then 
how is S related to R?[ SSC CGL 3rd March 2020 Shift-2]

A    Grandfather

B    Brother

C    Grandson

D    Son-in-law

Question 3: Arsh is Shivam's father and Dhruvis the son of Bimla. Eshwar is the father 
ofArsh. If Shivam is the brother of Dhruv, how is Bimla related to Eshwar? [SSC CGL 4th 
March 2020 Shift-1]

A    Wife

B    Daughter-in-law

C    Mother

D    Sister-in-law

Question 4: A+ B means ‘A is the wife of B’; A - B means ‘B is the daughter of A’; A * B 
means ‘B is the brother of A’; A % B means ‘A is the father of B’. If, P + R * T - Q + S % U , 
then how P is  related to the mother of U? [SSC CGL 4th March 2020 Shift-3]

A    Maternal grandmother

B    Mother

C    Paternal grandmother

D    Aunt



Question 5: Saksham introduced Nidhi to his friend, “She is the daughterof the only son of 
my father’s wife.” How is Saksham related to Nidhi?[ SSC CGL 10 June 2019 Shift-2]

A    Son

B    Cousin

C    Father

D    Brother

Question 6: Bharat and Sapna are husband and wife. Rohit and Bharat are brothers. Suresh 
is the father of Rohit. Sapna’s son is Krish. How is Krish related to Suresh ? [SSC CGL 10 
June 2019 Shift-3]

A    Grandson

B    Son

C    Uncle

D    Father

Question 7: Priyank is Akshay’s brother. Sonia is Saksham’s sister. Akshay is Sonia’s son. 
How is Priyank related to Sonia? [SSC CGL 11 June 2019 Shift-1]

A    Brother

B    Father

C    Nephew

D    Son

Question 8: Introducing Rukmani, Vijay said, “She is my wife’s only brother’s son’s mother.” 
How is Rukmani’s husband related to Vijay? [SSC CGL 11 June 2019 Shift-2]

A    Brother-in-law

B    Father-in-law

C    Son

D    Father

Question 9: A + B means ‘A is the mother of B’ A - B means ‘A is the father of B’ A * B means 
‘A is the sister of B’ A % B means ‘A is the daughter of B’ If P + R * T - Q % S + U, then how 
is S related to T ? [SSC CGL 11 June 2019 Shift-3]

A    Daughter

B    Sister

C    Mother

D    Wife

Question 10: ‘A + B’ means ‘A is the sister of B’. ‘A - B’ means ‘A is the brother of B’. ‘A * B’ 
means ‘A is the mother of B’. ‘A % B’ means ‘A is the father of B’. If V + S * Q - P % T + R * 
U, then how is R related to S ? [SSC CGL 12 June 2019 Shift-1]



A    Daughter

B    Grandson

C    Maternal grandmother

D    Grand-daughter

Question 11: ‘A + B’ means ‘A is the brother of B’. ‘A - B’ means ‘A is the wife of B’. ‘A * B’ 
means ‘A is the daughter of B’. ‘A % B’ means ‘A is the father of B’. If P + S * Q * R - T % V 
% U, then how is T related to P ? [SSC CGL 12 June 2019 Shift-2]

A    Maternal grandmother

B    Paternal grandfather

C    Maternal grandfather

D    Paternal grandmother

Question 12: ‘A + B’ means ‘A is the wife of B’. ‘A - B’ means ‘A is the husband of B’. ‘A * B’ 
means ‘A is the son of B’. ‘A % B’ means ‘A is the mother of B’. If T + Q * P - U % R % S + V, 
then how is R related to Q ? [SSC CGL 12 June 2019 Shift-3]

A    Mother

B    Daughter

C    Maternal grandmother

D    Sister

Question 13: ‘A + B ’ means ‘A is the daughter of B’. ‘A - B ’ means ‘A is the brother of B’. ‘A * 
B ’ means ‘A is the mother of B’. ‘A % B ’ means ‘A is the son of B’. If ,U + C * Q – P % R % 
S - T,then how is S related to U ? [SSC CGL 13 June 2019 Shift-1]

A    Maternal grandfather

B    Paternal grandfather

C    Mother

D    Paternal grandmother

Question 14: ‘ A + B ’ means ‘A is the sister of B’ ‘ A - B ’ means ‘A is the daughter of B’ ‘ A * 
B ’ means ‘A is the brother of B’ ‘ A % B ’ means ‘A is the husband of B’ If , V + U * Q – T % R 
+ P * S then how is P related to V? [SSC CGL 13 June 2019 Shift-2]

A    Paternal uncle

B    Maternal aunt

C    Maternal uncle

D    Paternal aunt

Question 15: Introducing Kavi, Veena said, “She is the sister of the son of the wife of my 
husband”. How is Veena related to Kavi? [SSC CGL 13 June 2019 Shift-3]

A    Sister



B    Daughter

C    Aunt

D    Mother

Question 16: Suresh's sister is the wife of Ram. Ram is Rani's brother. Ram's father is 
Madhur. Sheetal is Ram's grandmother. Rema is Sheetal's daughter-in-law. Rema is 
Sheetal's daughter-in-law. Rohit is Rani's brother's son. Who is Rohit to Suresh? [SSC CGL 
TIRE-1 2011]

A    Brother-in-law

B    Son

C    Brother

D    Nephew

Direction (Q. 17-19): Read the given information carefully and answer the questions given 
below. Seven persons H, J, K, L, M, N and O are from same family but three different 
generations. M is the son of H. L is son of O, who is married to M. K has only one child. L is 
the grandson of N. O and J are siblings. J is the son of N. K is a married male. [SBI Clerk 
Questions - 2018]

17. How L is related to J? 

A. Niece 

B. Nephew 

C. Father 

D. Uncle 

E. Cannot be determined 

18. If X is son of J, then how O is related to X? 

A. Nephew 

B. Mother 

C. Uncle 

D. Aunt 

E. None of these

19. How K is related to L? 

A. Grandson 

B. Grandfather 

C. Uncle 

D. Mother 

E. None of these



Directions (Q. 20-22): Study the following information and answer the questions.

 K is the wife of V. V is the brother of J. L is the only daughter of J. D is the father of M and L. 
S is the only daughter of M. [SBI Clerk Questions - 2016]

20. How is D related to V ? 

A. Nephew 

B. Brother 

C. Brother-in-law 

D. Son 

E. Father-in-law 

21. If S is married to G, how is G related to M ? 

A. Daughter 

B. Son 

C. Nephew 

D. Niece 

E. Son-in-law

22. How is K related to L ? 

A. Aunt

B. Niece 

C. Mother-in-law 

D. Mother 

E. Sister  


